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Not a function:  x=4 is used twice with two different y-values. 
Domain:  {29, 4, 4, 5, 13} or {29, 4, 5, 13}
Range:  {-2, -1, 0, 1, 3}

22-8  
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x3-64x ≠0
x(x2-64)≠0
x(x-8)(x+8)≠0
x≠0  x≠8    x≠-8
{xl x≠0, 8, -8}    

This is a quadratic function and the domain is (-∞,∞)
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3-4x + -7x+4

-11x+ 7    domain:  (-∞,∞)

x+ 7 - (6x2)

x+7 - 6x2

 domain:  (-∞,∞)
or   -6x2+x + 7

Domain:  x≠5/6

Positive  because f(-100) is above the x-axis
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-60, 70, 100

odd

f(-x) = - f(x)    odd function
f(-x) = f(x)     Even function

neither

even

f(-x) = -7(-x)2- 4
           -7x2- 4
f(-x) = f(x)   even 

so f(-x) = -f(x)     so function is odd

-f(x) = -√x
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constant inc

dec

constant

increasing

constant

constant

dec
inc

decreasing

maximum points (-8,5) and (2.2, 3.9)
Maximum values and where they occur:  

5 at x = -8   and 3.9 at x = 2.2
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y = ΙxΙ
y = Ιx-3Ι
y = 3Ιx-3Ι
y = 3Ιx-3Ι - 2
y = - (3Ιx-3Ι - 2)
or  y = -3Ιx-3Ι + 2

start with the function y = √x   then left 7 down 5 

 y is the absolute value function parent graph shifted right 2.   y = Ιx-2Ι
It's not there so it not c  which is a left 2
It's not D which is a line  that has a y-int of -2
so it must be A or B.  
B could be written as y = Ι-(x-1)Ι which is a flip over y then shifted right 1
A  could be written as y = Ι-(x-2)Ι  which is a flip over y then shifted right 2 

Or you could just use your calculator and see which equation matches the graph!
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